



**BID PROPOSAL FORM**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases		No Bid	
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases			
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases			
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48		50 cases			
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases			
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases			
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

**BID PROPOSAL FORM CONT'D**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases		No bid	
14	The Wave 3D Urinal Screen (10 per box)		30 boxes			
16	Pine-Sol 144 oz		40 each			
17	Renown Toilet Rim Hanger (72 per case)		20 cases			
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases			
19	4 Ply Rayon Cut End 24 oz Mop Head	Rayon	100 each	12	9.72 ea <sup>(144)</sup>	972.00
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5	Dura-TWIST	100 each	6	12.96 ea <sup>(144)</sup>	1296.00
21	<del>Latex</del> Powder Free Gloves – Size M (9 bxs per case)	Vinyl	10 cases	1000	129.85	1298.50
22	<del>Latex</del> Powder Free Gloves – Size L (9 bxs per case)	Vinyl	10 cases	1000	129.85	1298.50

Due to pandemic, ~~Latex~~ Gloves are not available at this time. See attached Spec Sheet for Vinyl gloves.

ICS JAIL SUPPLIES, INC.  
 P.O. Box 21056  
 Waco, TX 76702-1056  
 Phone: 800-524-5427 Fax: 254-751-0299  
[www.icswaco.com](http://www.icswaco.com)  
[bids@icswaco.com](mailto:bids@icswaco.com)  
 FEID # 27-1494351  
 GSA Contract # GS 07F-0552U  
 BuyBoard Contract Holder

**EXCEPTIONS  
(IF NONE, PLEASE NOTE)**

Latex gloves are unavailable due to ongoing pandemic - Brdding Vinyl as alternative.

Delivery Terms: 10-14 days ARO

## CS JAIL SUPPLIES, INC.

P.O. Box 21056

Waco, TX 76702-1056

Phone: 800-524-5427 Fax: 254-751-0299

[www.icswaco.com](http://www.icswaco.com)

bids@icswaco.com

FEID # 27-1494351

GSA Contract # GS 07F-0552U

## BuyBoard Contract Holder

INSCO, Inc.

(D)

BID PROPOSAL FORM  
MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent	Renown 1500 Morcon	400 cases  *cannot be returned	36 32.54 ***	13,017.60	
2	Renown Ecosoft Green Seal Roll Towel or Equivalent	Peerless Roll Towel 61800	200 cases	6	18.13	3626.-
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	Green 40461.5	400 cases	100/cs	24.78	9,912
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	TRMNL 4046X	400 cases	100/cs	31.28	12,313.60
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48	CG-2104 615C	50 cases	100/cs	28.34	1,417.12
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33	ADV C 24 3316C ADVANTAGE	50 cases  *cannot be returned	500/cs 38.13 ***	1906.80	
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases			
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

Indco, Inc.

BID PROPOSAL FORM CONT'D  
MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)	FRS12SA NIHM	20 cases	72/cs	12.16	243.60
14	The Wave 3D Urinal Screen (10 per box)	FRS3WDS 60CCM	30 boxes	72/cs	20.66	619.80
16	Pine-Sol 144 oz	CLO 35418	40 each	31/cs	9.20ea	368.-
17	Renown Toilet Rim Hanger (72 per case)	136D 677	20 cases	72/cs	16.56	93.36
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box	HOS 340-25	20 cases	231B CS	44.92	898.56
19	4 Ply Rayon Cut End 24 oz Mop Head	PCMOP 24R	100 each	12/cs	56.29	562.29
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5	OCED 94072 MAITWST	100 each	12/cs	96.86	963.90
21	Latex Powder Free Gloves - Size M (9 bxs per case)		10 cases			
22	Latex Powder Free Gloves - Size L (9 bxs per case)		10 cases			

# Ferguson Facilities

23

## BID PROPOSAL FORM MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases			
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases			
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	Westcraft	400 cases	100	27.160	10,864.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48		50 cases			
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases			
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)	Santil Deb	80 cases	6	57.60	4,608.00
11	Toilet Seat Open Front Elongated White	Profl0	2 dozen		7.575	181.0
12	8200 Particle Respirator N95 Mask (24 per box)	3M	25 boxes / 30	20	18.610	558.30

boxes

# Tugusos Facilities

## BID PROPOSAL FORM CONT'D MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)	Spartan Chemical Comp	20 cases	12/box 6/case	42.440	848.80
14	The Wave 3D Urinal Screen (10 per box)	Fresh Prod	30 boxes	10/box	25.990	779.70
16	Pine-Sol 144 oz	The Clorox Comp	40 each	3/pk	40.00	1,600.00
17	Renown Toilet Rim Hanger (72 per case)	Spartan Chemical	20 cases	4/case	3.130	62.60
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box	Comp Buffalo Industries	20 cases	50/pk	14.426	288.52
19	4 Ply Rayon Cut End 24 oz Mop Head	Rubbermaid Chem. Prod.	100 each	1	7.063	706.30
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5	Abco Broom and Mop Mfg	100 each	-	13.990	1,399.00
21	Latex Powder Free Gloves - Size M (9 bxs per case)	Westcraft	10 cases	100 box	17.250	1,552.50
22	Latex Powder Free Gloves - Size L (9 bxs per case)	Westcraft	10 cases	100 box	17.250	1,552.50

**Todd Macpherson**

**From:** Todd MacPherson - 5392 NORTHEAST <todd.macpherson1@ferguson.com>  
**Sent:** Thursday, May 6, 2021 2:52 PM  
**To:** Todd Macpherson  
**Subject:** Email Bid# B585683

**Price Quotation # B585683****FERGUSON FACILITIES SUPPLY**

12490 JEFFERSON AVENUE  
NEWPORT NEWS, VA 23602-4312

Phone : 888-334-0004  
Fax : 888-334-8112

**Bid No. ....:** B585683  
**Bid Date....:** 05/06/21  
**Quoted By:** TM  
**Customer.:** CITY OF TRENTON  
319 EAST STATE STREET  
TRENTON, NJ 08608

**Cust Phone:** 609-989-3139  
**Terms.....:** CASH ON DEMAND  
**Ship To.....:** CITY OF TRENTON  
319 EAST STATE STREET  
TRENTON, NJ 08608

**Cust PO#..:** JAN SAN BID

Item	Description	Quantity	Net Price	UM	Total
WCL404618KRR	WESTCRAFT 40X46 XXH REPRO BLACK 100	400	27.160	CA	10864.00
SANTIL	1L FOAM ANTIB HAND WASH 6 CA	80	57.600	CA	4608.00
PFTSCOF2000WH	EB CLST SEAT COMM OFLC WHIT	24	7.575	EA	181.80
3M05113846457	8210 DISPBL PARTICULATE RESP 20 PK	30	18.610	PK	558.30
SPA800100	URN SCRN W/DEOD BLOCK 12/BX 6/CA	20	42.440	EA	848.80
F3WDSF0101060M01	URN SCRN SPICED APPLE RED. 10/BX	30	25.990	BX	779.70
CLO35418CT	144 OZ PINE-SOI. COMM SOLUTION 3 PK	40	40.000	CA	1600.00
S800200	DEOD TLT RIM CAGE 12/BX 6/CA	20	3.130	BX	62.60
EB505	1/2X1-1/4 G5 HHCS 50PK	20	14.426	PK	288.52

ADM1TL16524BFE	5 X 24 DUST MOP LOOP END TIE	100	13.990	EA	1399.00
RGV41800WH00	24 OZ RAYON CUT END MOP HD WHIT	100	7.063	EA	706.30
FERLGM	DISPBL LATEX GLV MD 100/BX	90	17.250	BX	1552.50
FERLGL	DISPBL LATEX GLV LG 100/BX	90	17.250	BX	1552.50

Subtotal: \$25002.02  
 Inbound Freight: \$0.00  
 Tax: \$1500.13  
 Order Total: \$26502.15

**Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.**

**CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.**

**Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at <https://www.ferguson.com/content/website-info/terms-of-sale>. Govt Buyers: All items quoted are open market unless noted otherwise.**

**LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with \*NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.**

**HOW ARE WE DOING? WE WANT YOUR FEEDBACK!**

Enter the following link to complete a survey about your bids:  
<https://survey.medallia.com/?bidsorder&fc=5350&on=195206>

# United Sales, USA Corp.

(A)

## BID PROPOSAL FORM MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases	36/cs	48.25	19,300.00
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases	6/cs	26.00	5,200.00
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases	100/cs	37.00	14,800.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases	100/cs	34.96	13,984.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48		50 cases	100/cs	31.98	1,599.00
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases	1000/cs	17.00	850.00
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases	4/cs	114	11,400.00
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases	4/cs	65.92	3,296.00
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases	4/cs	65.00	3,250.00
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases	6/cs	53.50	4,280.00
11	Toilet Seat Open Front Elongated White		2 dozen	Each	18.98	455.52
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes	20 per box	20.00	400.00

# United Sales, USA Corp.

## BID PROPOSAL FORM CONT'D MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases	72/cs	69.00	1,380.00
14	The Wave 3D Urinal Screen (10 per box)		30 boxes	10 per box	18.00	540.00
16	Pine-Sol 144 oz		40 each	Each	9.12	364.80
17	Renown Toilet Rim Hanger (72 per case)		20 cases	12 per box	14.00	280.00
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases	25lb	20.00	400.00
19	4 Ply Rayon Cut End 24 oz Mop Head		100 each	12/cs	5.00	500.00
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5		100 each	12/cs	8.00	800.00
21	Latex Powder Free Gloves – Size M ( 9 bxs per case)		10 cases	10 box per cs	85.00	850.00
22	Latex Powder Free Gloves – Size L ( 9 bxs per case)		10 cases	10 box per cs	85.00	850.00



BID PROPOSAL FORM  
MUST BE COMPLETED BY VENDOR

CENTRAL POLY-BAG CORP.  
2400 BEDLE PLACE  
LINDEN, NJ 07036

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases			
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases	100	19.20	7680.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases	100	15.80	4320.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48		50 cases	100	19.20	990.00
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases	500	19.00	950.00
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases			
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

**BID PROPOSAL FORM CONT'D  
MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases			
14	The Wave 3D Urinal Screen (10 per box)		30 boxes			
16	Pine-Sol 144 oz		40 each			
17	Renown Toilet Rim Hanger (72 per case)		20 cases			
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases			
19	4 Ply Rayon Cut End 24 oz Mop Head		100 each			
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5		100 each			
21	Latex Powder Free Gloves – Size M (9 bxs per case)		10 cases			
22	Latex Powder Free Gloves – Size L (9 bxs per case)		10 cases			

**EXCEPTIONS  
(IF NONE, PLEASE NOTE)**

Delivery within 5-10 days ARO

**CENTRAL POLY - BAG CORP.  
2400 BEDLE PLACE  
LINDEN, NJ 07036**

*All American Poly*

(10)

**BID PROPOSAL FORM  
MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases			
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	ALL AMERICAN POLY	400 cases	100/case	20.54	8,216.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	ALL AMERICAN POLY	400 cases	100/case	13.46	5,384.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48	ALL AMERICAN POLY	50 cases	100/case	14.48	724.00
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases			
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases			
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

**ALL AMERICAN POLY  
40 TURNER PLACE  
PISCATAWAY, NJ 08854**

BID2021-35 FURNISH AND DELIVERY OF JANITORIAL SUPPLIES FOR A PERIOD OF TWO (2) YEARS WITH AN OPTION TO EXTEND TWO (2) YEARS BID OPENING DATE 5/14/2021 AT 11:00AM

Alf American Poly

**BID PROPOSAL FORM CONT'D  
MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases			
14	The Wave 3D Urinal Screen (10 per box)		30 boxes			
16	Pine-Sol 144 oz		40 each			
17	Renown Toilet Rim Hanger (72 per case)		20 cases			
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases			
19	4 Ply Rayon Cut End 24 oz Mop Head		100 each			
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5		100 each			
21	Latex Powder Free Gloves – Size M (9 bxs per case)		10 cases			
22	Latex Powder Free Gloves – Size L (9 bxs per case)		10 cases			



General Chemical & Supply

858 North Lenola Road

Moorestown, N.J. 08057

856-778-5550

**BID PROPOSAL FORM**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent	EXACT	400 cases	36	\$54.55 CS	\$21,820.00
2	Renown Ecosoft Green Seal Roll Towel or Equivalent	EXACT	200 cases	6	\$33.87 CS	\$6774.00
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	EXACT	400 cases	100	\$42.25 CS	\$16,900.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	EXACT	400 cases	100	\$38.88 CS	\$15,552.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48	EXACT	50 cases	100	\$28.90 CS	\$1445.00
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33	EXACT	50 cases	1000	\$19.20 CS	\$960.00
7	Clean on the Go NABC Cleaner Floral Fragrance	EXACT	100 cases	4	\$114.52 CS	\$11,452.00
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)	EXACT	50 cases	4	\$68.40 CS	\$3420.00
9	Clean on the Go Green Solution (2 liters/4 per case)	EXACT	50 cases	4	\$68.95 CS	\$3447.50
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)	EXACT	80 cases	6	\$77.50 CS	\$6200.00
11	Toilet Seat Open Front Elongated White	EXACT	2 dozen	5000	\$32.87 CS	\$788.88
12	8200 Particle Respirator N95 Mask (24 per box) 20	EQUAL	25 boxes	20	\$62.50 CS	\$1562.50

General Chemical & Supply  
 858 North Lenola Road  
 Moorestown, N.J. 08057  
 856-778-5550

BID PROPOSAL FORM CONT'D  
 MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases			NO BID
14	The Wave 3D Urinal Screen (10 per box)	EXACT	30 boxes	144	\$21.20 CS	\$636.00
16	Pine-Sol 144 oz	EXACT	40 each	3	\$10.25 EACH \$30.75 CASE	\$410.00
17	Renown Toilet Rim Hanger (72 per case)		20 cases			NO BID
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box	EXACT	20 cases	25LBS	\$21.20 CS	\$424.00
19	4 Ply Rayon Cut End 24 oz Mop Head	EXACT	100 each	12	\$3.89 EACH \$46.68 CASE	\$389.00
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5	EXACT	100 each	12	8.84 EACH \$106.08 CASE	\$884.00
21	Latex Powder Free Gloves – Size M (9 bxs per case)	EXACT	10 cases	10	\$120.00 CS	\$1200.00
22	Latex Powder Free Gloves – Size L (9 bxs per case)	EXACT	10 cases	10	\$120.00 CS	\$1200.00

Zep



**BID PROPOSAL FORM  
MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases			
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases			
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46		400 cases			
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48		50 cases			
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33		50 cases			
7	Clean on the Go NABC Cleaner Floral Fragrance	Zep Safe2Dose Oxy NABC C30201	100 cases	4 @ 2 Liter bottles requires attachngo dispenser S91801	\$68.00	\$6,800.00
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)	Zep Safe2Dose Neutral Fl Clr C30401	50 cases	4 @ 2 liter requires attachngo dispenser S91801 4 @ 2 liter bottles	\$60.00	\$3,000.00
9	Clean on the Go Green Solution (2 liters/4 per case)	Zep Safe 2 Dose Portable DZ 7 C30301 Neut disinfectant	50 cases	Requires attachngo dispS91801	\$62.00	\$3,100.00
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)	Zep Fuzion AB Foam Hand Soap - 4 x 1200ml bot - 338816	80 cases	4 @ 1200 ml Requires S94501 Fuzion Select Dispenser	\$37.00	\$2,960.00
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

*Lep*

**BID PROPOSAL FORM CONT'D**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases			
14	The Wave 3D Urinal Screen (10 per box)	Zep Wave 3D Blue Sky U51201	30 boxes	10 screens/ case	\$22.50	\$675.00
16	Pine-Sol 144 oz	Zep O Pine 183424	40 each	4 @ 1 gallon / case highly concentrated	\$69.00 only need 10 cases	\$690.00 bases on 40 bottles or 10 cases
17	Renown Toilet Rim Hanger (72 per case)		20 cases			
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases			
19	4 Ply Rayon Cut End 24 oz Mop Head		100 each			
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5		100 each			
21	Latex Powder Free Gloves – Size M ( 9 bxs per case)		10 cases			
22	Latex Powder Free Gloves – Size L ( 9 bxs per case)		10 cases			

W.B. Mason



**BID PROPOSAL FORM**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent	—	400 cases	—	—	—
2	Renown Ecosoft Green Seal Roll Towel or Equivalent	—	200 cases	—	—	—
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	Heritage	400 cases	125/CS	127.89	\$11,156.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	Heritage	400 cases	100/CS	122.96	\$9,184.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48	Heritage	50 cases	100/CS	129.07	\$1,453.50
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33	Heritage	50 cases	500/CS	127.47	\$1,373.50
7	Clean on the Go NABC Cleaner Floral Fragrance	—	100 cases	—	—	—
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)	—	50 cases	—	—	—
9	Clean on the Go Green Solution (2 liters/4 per case)	—	50 cases	—	—	—
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)	—	80 cases	—	—	—
11	Toilet Seat Open Front Elongated White	—	2 dozen	—	—	—
12	8200 Particle Respirator N95 Mask (24 per box)	—	25 boxes	—	—	—

*W.B. Mason*

**BID PROPOSAL FORM CONT'D**  
**MUST BE COMPLETED BY VENDOR**

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)	—	20 cases	—	—	—
14	The Wave 3D Urinal Screen (10 per box)		30 boxes	10/BX	\$20.19	\$605.70
16	Pine-Sol 144 oz		40 each	Each	\$10.91	\$436.40
17	Renown Toilet Rim Hanger (72 per case)	—	20 cases	—	—	—
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box	—	20 cases	—	—	—
19	4 Ply Rayon Cut End 24 oz Mop Head	—	100 each	—	—	—
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5	—	100 each	—	—	—
21	Latex Powder Free Gloves – Size M (9 bxs per case)	—	10 cases	—	—	—
22	Latex Powder Free Gloves – Size L (9 bxs per case)	—	10 cases	—	—	—

# Interboro Packaging Co.

## BID PROPOSAL FORM MUST BE COMPLETED BY VENDOR

CO

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
1	Renown EcoSoft Green Seal Opti-Core Toilet Tissue or Equivalent		400 cases			
2	Renown Ecosoft Green Seal Roll Towel or Equivalent		200 cases			
3	Green Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	INT-4046-Exh As Per Sample #3	400 cases	100/Case	\$23.82	\$9,528.00
4	Black Trash Can Liners Strength: Heavy Duty (minimum 1.5 MIL) Size 40 x 46	INT-4046-Exh As Per Sample #4	400 cases	100/Case	\$14.24	\$5,696.00
5	Clear Trash Can Liners Strength: 1.4 MIL Size 40 x 48	INT-4048-Exh As Per Sample #5	50 cases	100/Case	\$20.98	\$1,049.00
6	Clear Trash Can Liners Strength: 16 MIC Size 24 x 33	INT-2433-Reg As Per Sample #6	50 cases	1,000/Case	\$18.68	\$934.00
7	Clean on the Go NABC Cleaner Floral Fragrance		100 cases			
8	Clean on the Go Tri-Base Multi-Purpose Cleaner (2 liters /4 per case)		50 cases			
9	Clean on the Go Green Solution (2 liters/4 per case)		50 cases			
10	Aerogreen Antibac Foam Soap (1 liter/6 per case)		80 cases			
11	Toilet Seat Open Front Elongated White		2 dozen			
12	8200 Particle Respirator N95 Mask (24 per box)		25 boxes			

Bags Manufacturer: IBS/Capital/Glopak

# Walterboro Packaging Co.

## BID PROPOSAL FORM CONT'D MUST BE COMPLETED BY VENDOR

ITEM NO.	DESCRIPTION	INSERT EQUIVALENT BRAND	CITY'S ESTIMATED QUANTITY NEEDED	VENDOR MUST INDICATE HOW MANY ITEMS PACK IN A CASE	PRICE PER CASE	VENDOR MUST MULTIPLY UNIT PRICE X PRICE PER CASE = TOTAL PRICE
13	Appeal Deodorizing Block and Screen (72 per case)		20 cases			
14	The Wave 3D Urinal Screen (10 per box)		30 boxes			
16	Pine-Sol 144 oz		40 each			
17	Renown Toilet Rim Hanger (72 per case)		20 cases			
18	T-Shirt Wipers, Eagle Pro 2374 25 lb box		20 cases			
19	4 Ply Rayon Cut End 24 oz Mop Head		100 each			
20	Premium Synthetic Blue Dust Mop Head Size 24 x 5		100 each			
21	Latex Powder Free Gloves – Size M ( 9 bxs per case)	JobGuard -Med-LPFG As Per Sample #21	10 cases	1,000/Case	\$ 118.00	\$ 1,180.00
22	Latex Powder Free Gloves – Size L ( 9 bxs per case)	JobGuard -Lrg-LPFG As Per Sample #22	10 cases	1,000/Case	\$ 118.00	\$ 1,180.00

Gloves Mfr: Springfill